EAGRAROBREERT — 2 N— ABISH —F 201951183308 (&) s5E4IUTH

m%fﬁﬂ%" 1B752 Y5R2K (BE) (8 B EEE e

[A~&<£] 1 7% 10,000,000 § ~ 2 3 :4,000,000 W 33 :2,500,000” 4 3%:1,500,000H" 5 i :1,000,000 H

& %B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
N B oo | BERMAETT R 1:58.9 2-2-2-1 |36.0] 90.9 | 2 502 | BERAfE— (3ER)
1 4 Jorrv—L 55.0 (=) +2) (B) *+AOy hT77—L4
L:O0—-Kp+a7 B:J5F7E—L (B) #B—-FKL—->ya3>@qE77
> SN # o2 | FARER 1:59.1 3-3-3-3 |36.0| 88.8 | 8 462 | EAEHE (EH)
2 3| IV —H—-T> 54.0 ) o) | B) ARETa-—T7—L4
LTANVNTT7FY— B:EILHMY—F ARETa—T7—L
; s . 2 | W Eafvy 1:59.1 6-5-5-5 |35.8| 88.7 | 1 524 | AAFEL (EH)
3|56 ®@F—V> bR 55.0 (7€) t12) | TEWT>
AZ:New Approach #£:Miss Kenton Canning Bloodstoc
Q=5 i o2 | BiElE 1:59.1 3-3-3-3 |36.0| 88.8 | 9 470 | TEIRER (i)
47| | XTI 55.0 (74%) (1) | POEEER
R:O—X%>J4L B:t3iza> H20f LHiS
R S, o 2 | Sli— 1:59. -8-8-7 . 7 4 | FEEEZ (EH)
SRREPIYY DL # i (1519/43) 6-8-8 35.8 | 86 5 (5&) s
L:FATATv— BT RYIYNyE— IR
= o2 | AEHRIR 1:59.4 10-10-8-7 | 35.8 | 85.6 | 6 480 | BAE (EH)
6 gl 717X - 55.0 (%) 46) | TATVALTTT (48
i LTA4N— bt B:HAILY MRy R FATLANIST
0. ¥—714— :50. ~5-5- . . h)IIAR (i)
7 o|B—LUZ b o2 o 1(35/%5 5-5-5-6 |36.2| 84.9 | 3 (igg) Rl
R:TTYIEAK B:RTYLTL—X2 S PN
N # 2 | M. FA-H 1:59.7 10-10-11-10{ 35.8 | 82.6 | 7 488 | IEEAT (i)
g|5|5 E¥TLAR 8.0 (1 1/4) (12) | FIEBHER
LN—E>Tv— Bdr#FrFa J—HTp— L
. o2 | RNEAS 2:00.1 9-9-8-10 |36.6| 79.2 | 10 | 450 |IEHHMIEL (i)
9|7|10| FIRERZ VY 55.0 @ 1/2) | B EyTLyETr—s
L:O—-J X124 B:T771 E T TREEHUS
ST 4 2 | SEAA 2:00.7 12-12-12-12| 36.6 | 73.3 | 11 450 | IEHEE (EH)
10 7 IZXEX>H [B] 54.0 (3 1/2) (+4) |FEIEE=E
R:id—WRKYy T BiehPRI%kD HO4S
s it 2 | BERIEA 2:01.5 6-5-5-9 | 38. . LEiEZ (i)
1118/11| ®7 2/ b g 550 (5) 82| 8.0 12 (4—584) fREHHA
R:74H0 Bivaxy-—> HY v LS
o2 | SHE2 2:01.5 1-1-1-2 | 38.7| 68.8 | 4 464 | FEEI (EH)
12812 7Y/~ 54.0 (7€) Loy | B AU—zaFL-32y
R:IET7XAT7 B/ —FET7754 ifsye]
@ 71 L
) 47.7-36.1

NE>Z2A L | 12.6-11.1-12.0-12.0-12.0-11.5-11.6-11.6-11.8-12.7

@ 11— —@EBIRfL

13—F— |12,4(3,9)2(1,6,11)10(5,8)=7
20—7F— |[12,4(3,9) (2,6,11)1,10(5,8)=7
30—+— (x12,4) (3,9) (2,6,11) (1,8,10)-5,7
40—F— (12,%4) (3,9)6,2(1,8)11(10,5)7
[ /N
BB 4 420 | | 71 K 3-4 1,280 | | # = 3-4 3,930M | | 3&E#& 3-4-6 3,210
7B 4 160/ 4-6 2800 | | & &= 3-4 4,230 | | EE 4-3-6 24,300
3 430 3-6 %M | | B ¥ 4-3 6,950
6 120M

ABRICOVTHRTEEERROODE, THEB LS,




